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CioxeHue 10 JecaTh Nms:
Pemure npuMepsbI OTBeTHI
D 9+ =10
— 1.
2) 1+ =10
i 2.
3) + 5=10
—_— 3,
49 0+ =10
4.
) + 3=10
—_— 5.
6) + 6=10
—_— 6.
7) +2=10
—_— 7.
8) + 7=10
E— 8.
9 8+ =10
E— 9.
10) 4+ =10
_ 10.
1) ¢+ =10
— 1.
12) + 7=10
- 12.
13) 1+ =10
— 13.
14) + 2=10
—_— 14.
15) 4+ =10
_ 15.
16) + 3=10
—_— 16.
17) 8+ =10
_ 17.
18) + 9=10
_ 18.
19) o+ =10
] 19.
20) + 5=10
- 20.
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CnoxxeHue 10 IeCITH Umst: KJ1104 K IPaBUALHBIM 0TBETAM
Pemnre npuMepbi OTBeTHI
Do+ 1 =10 . 1
21+ 9 =10 ) 9
5 +5=10 N 5
9 0+ 10 =10 4 10
5) 7 + 3=10 S v
6) 4  + 6=10 . 4
7 8 + 2=10 . 8
8) 3 + 7=10 . 3
9 8+ 2 =10 N 5
1) 4+ 6 =10 o6
M 6+ 4 =10 0 4
12) 3 4+ 7=10 12. 3
B) 1+ 9 =10 s 9
14 8  +2=10 14, 8
I5) 4+ 6 =10 15. 6
16) 7 + 3=10 ” 7
17y 8+ 2 =10 17, 2
18) 1 + 9=10 o 1
9 0+ 10 =10 19. 10
200 5 4+ 5=10 20. S
D F—— 10 20 [asTao s o s ao[1s o[ 5 [0




C:# CloxxeHue 70 AeCATH Uwmsi:

Pemure npuMepsbI OTBeTHI
1 3 7 3
10 4 9 2 1.
8 4 5 6
2.
D 9+ =10
3.
2) 1+ =10 4.
5.
3) + 5=10
6.
49 0+ =10 7.
8.
S) + 3=10
9.
6) +6=10 10
11.
7 + 2=10
- 12.
8) + 7=10
9 8+ =10
10) 4+ =10
1) 6+ =10
12) + 7=10
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